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YEAR : 1999 5.

Two pipes A and B can fill a tank
in 20 minutes and 30 minutes respec-
tively. If both pipes are opened together,

A pipe of diameter ‘d’ can drain a
certain water tank in 40 minutes.
The time taken by a pipe of diam-
eter 2d’ for doing the same job in :

the time taken to fill the tank is: THdoME T T R R S EE FE g
% 959 A 31 B % ¥ =1 ;20 fiFe ok 40 7z T 2, @ 2d = 9 9T
30 fre & w o 21 3l S v o A ¥F = = = F e 9w

T 5 s A E ) we  fora e e
(a) 50 minutes (b} 12 minutes
{c} 25 minutes {d) 15 minutes

() 5 minutes (b} 10 minutes
{c) 20 minutes jd) 80 minutes
YEAR : 2002

6. A cistern can be filled with water by
a pipe in 5 hours and it can be emp-
tied by a second pipe in 4 hours. If
both the pipes are opened when the
cistern is full, the time in which it
will be emptied the cistern:

T a9 forll 3 5 5 F Wt | w

1
If g of a tank holds 80 litres of

water, then the quantity of water

1
that E of tank holds is:

3

oz fret 3w ® % ot ¥R R TEE 80 Fiw

s, 9 IE e M PR W sE st 3 Wt W @it fen W A <

e el w2 w2 4 it & o

{a) 240 litres (b} 120 litres {a) 9 hours (i Jl Pours
80 -

ld} :aar;i

(d) 100 litres

() —'3" litres hours

{c) 20 hours
Three taps A, B and C can fill a

tank in 12, 15 and 20 hours re- ‘- A pipe cartfs\ll],,-a-:;ank ‘with water in

spectively. If A is open all the time 3 hours. _ _ﬁvktb?_"ﬁ"leakage in bot-
and B and C are open for one hour -, 1 '
?Sflhi :lt.ernamrcly, the tank will be topsit t@(e@é’ hours to fill it. In

whig $fMe the leak will empty the

7 7 A, B3k C wF 2= R wwW: 12,15
S 20 ¥ W o 1 AR WA R wE g
@waﬁzca@ﬂw—qwﬂ%%ﬁq@ﬁ
oW 2, Tt 2% fead I R R i

{a) 6 hours {b}G% hours %‘v ﬁ'{#ﬁ?o* = TR ¥ 3 A R Frew qoi
it a'vlﬁ frt wwa o @it gt s
{c} 7 hours {a) 12 hours (b) 21 hours
YEAR : 2

1
; o [c) 6— hours (d) 10 - hours
h” one hour, < 2
ty it in 30
taps operate
much time is

: the tank ?

A tap can em,
A second ta
minutes. If

YEAR : 2003

8. Two pipes A and B can separately
fill a cistern in 60 minutes and 75
minutes respectively. There is a

R T R T A Tl v ww third pipe in the bottom of the cis-
Hn T 7§ 30 e § welt R wwa tern to empty it. If all the three pipes
# 4R 1 7 o Wy g el I @ I w5 are simultaneously opened, then the
et B F far g em? cistern is full in 50 minutes. In

how much time the third pipe alone

(a) 20 minutes
can empty the cistern ?

{c) 40 minutes

(b} 30 minutes
{d) 45 minutes

R B IR 28 F 2 T wmy 4 5 5 * j

A A

PIPE & CISTERN

e e
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R

RN

7

% IRY A AR B swm-aem fEd TR W
F9: 60 fime 3t 75 fife & W wwd &
Zet ot e o IHE wret w0 % fag
WEY TN &) A A e w T ae g
I A I 50 R Y R IR E o T
Y 3 I @ e ara o el e

'Sr

{a) 110 mlnutes~z< - {b} 100 minutes

2,
C% Td] 90 minutes

A tap can fill afank in 6 hours. After
half the tafik is filled, three more
sim@la?: taps are opened. What is
tlge total time taken to fill the tank
rcompletely ?

"}ﬁmmw%aﬂﬁﬁiﬁmmil

el T 1 o A b g B gi__%!

10.

11.

Wizard of Maths -~ Rakesh Yadav Sir

f’mﬂz‘ﬁﬂﬁa}m,mm%?ﬁqaﬂtw

el fed wm &1 36 W @ e § w/ e
g F?

{a) 4 hrs ib) 4 hrs 15 min,

{c) 3 hrs 15 min. (d) 3 hrs 45 min.

One pipe can fill a tank three times
as fast as another pipe. If together
the two pipes can fill the tank in
36 minutes, the slower pipe alone
will be able to fill the tank in

TF Wy frdl 3% % v § gut IRy @
SR AT T Ao [ & oA
ey T we et 5% i s R ¥ W@ g,
W Wit i ® 9 T e ¥F W arkar
forad wom | wom?

{a) 81 minutes {b} 108 minutes

{c) 144 minutes (d} 192 minutes

YEAR : 2004

Two pipes can f{ill a cistern in 3
hours and 4 hours respectively and
a waste pipe can empty it in 2 hours.
If all the three pipes are kept open,
then the cistern will be filled in:

it s R s amey
waRd ¥ o e T 2R
W I w1 3l A e W Wy
Hre fem e o ¥ forad 99T A w1 Sam?

{b} 8 hours
{d} 12 hours

E

{a) 5 hours

{¢) 10 hours




12. Two pipes can fill a tank in 15 hours
and 20 hours respectively, while
the third pipes can empty it in 30
hours. If all the pipes are opened
simultaneously, the empty tank will
be filled in

2 weg fdl ¥ T FAw: 15 W F4M 20
w2 F e WA ¥, 4R dew wEw ™ 306

& ErEt T 2 A T TEe H W

16.

e fom A @t FE W o F fHe
TR 7
(a) 10 hours {b) 12 hours

{c) 15 hours

1
(d) 15 5 hours 17.

13. Two pipes A and B can fill a cis-

tern in 37 -2~ minutes and 45 min-

utes respectively. Both pipes are
opened. the cistern will be filled
just in half an hour, if the pipe B
is turned off after.

1
< gy et 2= = o 37—2~ fire a0

45 fiFz § o §) 3R <A T F ' s
oo wren & 2T H S A R A H R
fem B &t fead W9 91 a9 & T?

(a) 15 minutes (b} 10 minutes
{c} 5 minutes (d) 9 minutes

YEAR : 2005

A tap can fill a cistern in 8 hours
and another tap can empty it in 16
hours. If both the taps are open,
the time (in hours) taken to fill the
tank will be :

e e o 2 W H H W ¥ SR T
Y 1692 # el FwHA 4 AR A wed H
T e W, A ¥ oo w W SmEm?

{a) 8 {b) 10 ¢} 16 (d) 24

A cistern has two pipes. One can
fill it with water in 8 hours
other can empty it in 5 hours.
how many hours will the cistern
emptied if both the pipes are opene

18.
14,

15.

3
together when Py of }he i%lém is o

already full of water (g’
w H @ | i

{b) 10 hours

(a) 13— hours
3

{c) 6 hours

=

1
{d) 33 hours

3
Z part of the tank is full of water.

When 30 litres of water is taken out,
the tank becomes empty. The ca-
pacity of the tank is @ .

e I = % wm O § qu gen 3, 94

a0 § 30 ot e P fora e € &
¥ et @ S #1 2® i )

{a) 36 liires {b) 42 litres

{c) 40 litres (d) 38 litres

A tank is fitted with two taps. The
first tap can fill the tank completely
in 45 minutes and the second tap
can empty the full tank in one hour.
If both the taps are opened alter-
nately for one minute, then in how
many hours the empty tank will be
filled completely ?

o % 0 9 T o B, TN T I B O
45t wmt g m s SF R
| o H el w2 AR e I W - 31%
¥ 1&-T foe % fau s @ § @,

1 =) Ui v o e T gﬂm& 3
(@) 2 hours 55 minutes
(b} 3 hours 40 minutes

{c) 4 hours 48 minutés

(d) 5 hours 53 minutes

A pipe can empty a tank-in 40 min-
utes. A second,pipe With diameter
twice as much as that of the first is
also attaclm;i “withsthe tank to empty
it. The two pipe,together can emply
the tank fn: "

g TR 7 R 40 fre # @t
w1 #1 3G W e = e T
W TR £ ¥w e 79 B A Sk

- fem a2 @A T TH WY &F Hi
forad Toa ¥ @t #+17?

1
{a) 8 minutes {b) 135 minutes

{¢] 30 minutes {d) 38 minutes

Two pipes can fill a tank with wa-
ter in 15 and 12 hours respectively
and a third pipe can empty it in 4
hours. If the pipes be opened in
order at 8, 9 and il a.m. respec-
tively, the tank will be emptied at

% iy fadft ¥ A ot ¥ @ F w05
g 12 TR ¥ T O W R § T T
e TEY 3| S R 4 wed H mre W
T & A% T IR H AV HEE 8 W, O
T 3R 11 9 wen W@ A @ I feE
|G 9% I B Smm?

() 11 : 40 am. {b} 12 : 40 p.m.
{c] 1: 40 p.m. (d) 2 : 40 p.m.
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20.

21.

22,

23.

YEAR : 2006

A pump can fill a tank with water
in 2 hours. Because of a leak in the

1
tank it was taking 2:?: hours to fill

the tank. The leak can drain all
the water off the tank in :

w Yo R e TR R 2 T aw f

1
Yz w e oA g S 'ff2“§‘él'i

R % 9 g Ze, T fen ® e fee
g F gt o

(@) 8 hqjl,nﬁ; 4, % (b) 7 hours

e

(€ 43 .hour;? (d) 14 hours

A tank can be filled by two pipes in
20”‘1n.;nutes and 30 minutes respec-
ﬂ‘yely When the tank was empty,
» th& two pipes were opened. After
Bome time, the first pipe was

':'m stopped and the tank was filled in

18 minutes. After how much time
of the start was the first pipe
stopped ?
2 ey fol Fo %t Fmw: 20 fire ae 30
fire ¥ wd 21 99 o e @ A S T
it @A foa w21 HY wHT T T
gy 5% W e § v & 18 e
i & | TEen WE e B FeA o A Ag
R fan < 22
{a] 5 minutes (b) 8 minutes
{c) 10 minutes {d) 12 minutes
YEAR : 2007
A pipe can fill a tank in "X’ hours
and another pipe can empty it in ‘Y’
(y > 0 hours. If both the pipes are
open. In how many hours will the
tank be filled ?
ook URY fRdt ¥ @t o w2 W v iR
T WET 'y {y > 0 92w @ A
= wrdl 1 =i e = @ e v
A IF W AC?

{a) {x - y) hours  {b} (y — ») hours

hours (d) hours

XY

x-y y-x

12 pumps working 6 hours a day can
empty a completely filled reservoir in
15 days. How many such pumps
working 9 hours a day will empty
the same reservoir in 12 days?

12 Tt WA 662 FM TR TWEF T R
Tu TN A 15 FA § w3
frm 99 9 W2 wafe W W EW IH
e 12 B § e w13

@15 (19 © 10 (4 12

(ch




24,

25.

26.

27,

28,

A tap takes 36 hours extra to fill a
tank due to a leakage equivalent to
half of its inflow. The inflow can
fill the tank in how many hours ?
ZH) B el 4 B TH B TG O o e
T W a H 36 v I wfaltE W o @
Al 3R T A T Y e v = T
1 B WA F1 e g fraT 32
fa) 36 hrs {b) 24 hrs
{c} 30 hrs {d) 18 hrs
A tank can be filted with water by
two pipes, A and B together in 36
minutes. If the pipe B was stopped
after 30 minutes, the tank is filled
in 40 minutes. The pipe B can
alone fill the tank in
T v forelt R B T A @ fia s
uF o faeER 36 e W W & ot 30
faFe aR "9 B Fi sk W fem e # v
29 40 foe H wwdt %1 WY B wden 39 ¥
H e g § wm?
{a} 45 minutes {b) 60 minutes
{¢) 75 minutes (d) 90 minutes
Two pipes A and B can fill a water
tank in 20 and 24 minutes respec-
tively and a third pipe C can empty
at the rate of 3 gallons per minute.
K A, B and C are opened together to
fill the tank in 15 minutes, find the
capacity of tank ?
% gy A ol B U T R I = F: 20
sit 24 e W e % ol dwn TRAC W
3 frem/fre & frarm & =l F5 2 kA,
B3R C 05 o @i i o & @ ¥
15 fiz & w3 e &1 3 9 enen s
faj 180 (b} 150 {c)} 120 (d)} 60
YEAR : 2008
Three pipes P, Q and R can separately
fill a cistem in 4, 8 and 12 hours re-
spectively. Another pipe 8 can

empty the completely filled cistern
in 10 hours. Which of the following,

tern in less time than others?

?ﬁquQaﬁ?Rmm@zﬁﬁ% S ) P T 4

FAA: 4, 83 129 F o T ) 0
37 Tt F AN w9 S 9 rhaad #
10a€ﬁm@ﬂmm%lmﬁaﬂ‘ﬁ
TR F FA-A FAH q} e-m # e
T W R

() Q alone isgopep -'.-%

(b) P, R and S%re ‘open

cy P andf&S a.re en’”

(d) P, Q and. § ar#open

A tank has a leak which would
empty the completely filled tank in
10 hours. If the tank is full of wa-
ter and a tap is opened which ad-
mits 4 litres of water per minute in
the tank, the leak takes 15 hours to
empty the tank. How many litres of
water does the tank hold?

%

arrangements will fill the empty cjs-

29,

30.

31.
« rately in 10 hours and 15 hours.

AR E e R 1092 |

el W IR AR IE W g A A 4,

W T G W W 2R Y 4 e we ui
firve oTema 2, S e @ & o 92 W I
el w1592 % v o ) e R

ATHAT SRR
(a) 2400 ! (b} 4500 1
{cy 1200 ¢ (d} 7200 I

An empty tank can be filled by pipe
A in 4 hours and by pipe B in 6
hours. If the two pipes are opened
for 1 hour each alternately with first
opening pipe A, then the tank will
be filled in

TET AWF Tl $F H 45 H IR TR B 6
W § oy #) 9 A weh w ad-ar |
TH-UF =2 % for @en s # o wmeA g
= fea s ¥ 7@ ¥ e we ¥ e

3 3
{aj 1 — hours {b) 2- hours
4 5

2 1
(c) 45 hours d) 55 hours

A boy and girl together fill a cigtem =

with water. The boy pours 4ditres &f

water every 3 minutes and th@?gxrl'

pours 3 litres of water every 4 min-
utes. How much time will it take to
fill 100 litres of water in, the, cistern ?

TF EH AR TR e free e 2w
F T % o &) o 4 AT T 3
fre § e & i w1t 3 il TF v 4
foe & welt 41 fped @9 § 100 etex Wt
ea‘?rﬁmwrrﬂ?

{ay 36 nﬁn‘htes (b} 42 minutes
(c], 4& mmutes {d) 44 minutes

.Y‘EAR 2009

Twa pipes can fill a cistern sepa-

oy They can together fill the cistern in:

32.

g1 qrq T 9 F IAT-IEm T 10
¥ ol 15 ¥ o & W o Wy

{a) & hours (b} 7 hours

() 8 hours id} 9 hours
Three pipes A, B and C can fill a
cistern in 6 hours. After working
at it together for 2 hours, C is closed
and A and B fill it in 7 hours more.
The time taken by C alone to fill the
cistern is

1 W9 A, B 3R ¢ uw TR w6 G W
Ty B U Y e s wE S 2 W A
MWeH A ET U, @ AR BT
He 1 sifi T @ #| C shen 39 I
F fHad wo | wm?
{a) 14 hours

(¢) 16 hours

{b] 15 hours
{d) 17 hours

34.

35.

36.

Wizard of Maths - Rakesh Yadav Sir -

YEAR : 2010

Three taps A, B and C together can
fill an empty cistern in 10 minutes.
The tap A alone can fill it in 30 min-
utes and the tap B alone in 40 min-
utes. How long will the tap C alone
take to fill it?

4 @ AB R C v Wy foeew fEd
et R F 10 i § W g 21 A A
& 30 fae § 3ik 7@ B @@ 40 fome
¥ 1w gwd # vy fHe Ang W C
aﬁmzaﬁaﬂm?

{a) 16 mmytes

b «{b) 24 minutes
{c) 32 rmnytes : id] 40 minutes

One tap can fﬁl a water tank in 40
minutes and another tap can make
the filled tank empty in 60 minutes.

_[ﬁ:_l?otﬁ ‘the taps are open, in how many
zholirs will the empty tank be filled?

F e el 29 T T R 40 e F

; ¢ 3 T W T v 23 # 60 e |

et w2 AR I T w2 w R aw d

T @Et TR S H e T wm e
(a) 2 hours ib) 2.5 hours
{cy 3 hours {d} 3.5 hours

A tap can fill an empty tank in 12
hours and another tap can empty
half the tank in 10 hours. It both
the taps are opened simultaneously,
how long would it take for the empty
tank to be filled to half its capacity?

TF T @l 2R A 129§ e ® e o=
& aneh I w10 52§ weh W 819
T T F UF W vl K w20 we
i o W i g F W gm F=w e
(a} 10 hrs (b) 30 hrs
{c} 15 hrs (d} 20 hrs

A tap can fill a cistern in 40 min-
utes and a second tap can empty the
filled cistern in 60 minutes. By
mistake without closing the second
tap, the first tap was opened. In
how many minutes will the empty
cistern be filled ?

T 7 FRE 2 40 R § ¥ s T
60 oz 3 Tl X 4o 4 R W T A
=7 o farn ween T @) R W #) 9@

For T o Eel 98 = W W T 8
(a) 72 (b} 84
fc} 108 ) 120

1289]



37. Two pipes, P and Q can fill a cis- YEAR : 2012
tern in 12 and 15 minutes respec- , .
tively. Both are opened together,pbut 41. A tank can ,be ﬁ"?d by pipe A in 2
at the end of 3 minutes, P is turned hours.and pipe B in 6 hours. At 10
off. In how many more minutes will am pipe A was opened. f” What
Q fill the cistern ? "ume will the tank be filled if pipe B
ﬁtIquPSﬂ'{QM 0 T w12 1sopeneda.tllA‘M‘.? )
AR O o 9 A fas &F w2 W F a0 TRY B6 W
i frr i & 2 o o €1 AT 10 99 WY A B @
g?ﬁﬁmmm%::aﬁmgmg s %1 aft TET B H 11 7 @ f W
7 3% foed Tt 9 R wmon?
T T fera S (@) 12.45 AM. (b 5 P.M.
1 fc) 11.45 AM. (d)y 12 P.M.
{a) 7 minutes (b} 75 minutes (8SC CGL Tier 11 Exam 16.09.12)
42, If -z—th of a cistern is filled in 1

1
{c) 8 minutes (d) 8; minutes

38. Pipe A can fill a cistern in 6 hours
and pipe B can fill it in 8 hours. Both
the pipes are opened simultaneously,
but after two hours, pipe A is closed.
How many hours, will B take to fill
the remaining part of the cistern?

R A fREl <% %1 6 W H 4 UR B fE
Z3 T g w2 § W v 31 < wewt w1 U

oy i S g S o R A A 43,

F1 5% ¢ e o #1 @ wwew fF A g

Wit H) & % fau B feam awa Fm?
1
(a) 2 hrs {b) 35 hrs
2
(c} 2‘3’ hrs {d) 4 hrs

39. A cistern is normally filled in 8
hours but takes ancther 2 hours
longer to fill because of a leak in its
bottom. If the cistern is full, the
leak will empty it in :

frel €81 W 9E § Wy 8 W &
s o # efEr S F At v o w e

F W7 2 W H ATy qOF o 3 AR, o

2 9 0 ) 73 93 farwd o 4 4
F @l w2 R a2
{a) 16 hours {b) 20 hours '
{c) 25 hours {dy 40 hours
YEAR : 2041 ,
40. Pipes P and Q can fill ditalicth 10

hours and 12 hours r%sp ively and
C can empty it in 6@0 "If all the
three are openéd at}7 am, “at what time
will one-fourt pe Fank be filled?
e P H B FAA: 10 I
12 %R ¥ el € 6 =2 § @l Fw ¥
oz A IR R O Y GE 7 T @ R

m%aﬁiﬂ:m% o %a T W S

{a} 10 am
{c) 11 pm

(b} 10 pm
(d) 11 am

minute, the time needed to fill the
rest is :

A% A g a1 1 fe | W v #, @

) 30 A f W 9 9T S ?
(a) 40 sec (b} 30 sec
{c) 36 sec (d) 24 sec

{SSC CHSL DEO & LDC Exam 28.10.12) °

A cylindrical cistern of diameter 25%
cm is full of water. If 11
water is drawn off, the water ltve‘f“
in the cistern will drop by':'

[ 22] e
use m =

25 et = el T 2 T @
wit gf ¥ Ak L}Mﬂmmm
Lokoge] __ammﬁmlamm7

1%
i -0_" 'F‘-. .

b2 2
@ §2§ em (d) 203 cm

|  {SSCCHSL DEO & LDC Exam 28.10.12)
Ty, YEAR : 2013

here are two pumps to fill a tank
*with water. First pump can fill the
empty tank in 8 hours, while the
second in 10 hours. If both the
pumps are opened at the same time
and kept open for 4 howrs, the part
of tank that will be filled up is :
& I Rl IR T W @ ) e W
TR I w g w d it g 109 H 9w
21 ol 2 O G T wa R # T
e fe =, ot F5 = fmmw wm W smem?

6
(b} 12; cm

9 L
1o ™ To

2 .
{c s {d) 5

(SBC MTE Exam 10.6.13)

A

45.

46.

res of -

48.

49,
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. (6} 15 hours

Two pipes, P and Q, together can
fill a cistern in 20 minutes and P
alone can in 30 minutes, Then Q
alone can fill the cistern in

% Tz p &R @ ©F g fEE 2 =20
fe & 7 P arhen 30 fae ® s A &)
Q el TF F1 fva g | wom?
(b} 60 minutes
{d)] 51 minutes
(S5C MTS Exam 10.3.13)

Two pipes A and B can fill a cistern
in 3 hours and 5 hours respectively.
Pipe C can empty in 2 hours. If all
the three pipes’re open, in how
many hours* the‘«mstern will be full?

2 W il et B 3R AW S WY
T PECY W f e 3R T R
o i e B e e T § 7 e
wAa § ZH 5 wwi?
(a) ean't be filled

{a) 62 minutes
{c) 61 minutes

(b 10 hours
(d] 30 hours
_(SBC FCI Asslstant Grade Il Exam 7.4.13)

‘Three taps A, B, C can fill an over-

head tank in 4, 6 and 12 hours re-
spectively. How long would the
three taps take to fill the tank if all
of them are opened together ?

&M 7 A, B, C et 2 = Fown: 4, 6 i
129 E 9 wd &) 3R 69 5w Y

e W & T E R g0 o S?
(@) 2 hrs. {bj] 4 hrs,
[c) 3 hrs. (d) 5 hrs.

{S8C Constable (GD) Exam 12.05.13)

if two pipes function simulta-
neously, a tank is filled in 12 hours.
One pipe fills the tank 10 hours
faster than the other. How many
hours dees the faster pipe alone take
to fill the tank ?

If =1 e v W fEf dF w129 T W
HF | TN WY W IRY ¥ 10 %R A
o ¥ &1 FAEY A | W A Y I A

T g § R 3 &2
{a} 20 hrs (b) 18 hrs
{c) 15 hrs {d) 12 hrs

{88C CHSL DEO & LDC Exam 27.10.13)

Two pipes X and Y can fill a cistern
in 24 minutes and 32 minutes respec-
tively. If both the pipes are opened
together, then after how much time
{in minutes) should Y be closed so
that the tank is full in 18 minutes?

=¥ wrgw X s Y fadt 23t 5 HEe 24 e
sift 32 firme F W T #1 AR 3 wEe
e feen e A =AY + FE OAE 9% 9%
= f& g fe 291 18 firle W W =mg?
{a) 10 b 8
6 d 5

(SSC CHSL DEO & LDC Exam 12.05.13)




50. Three pipes A, B and C can fill a
tank in 6 hours, 9 hours and 12
hours respectively. B and C are
opened for half an hour, then A is
also opened. The time taken by the
three pipes together to fill the re-
maining part of the tank is :
7 e A, B ol ¢ fFe 26 B w6
W2, oWt ot 12 A mwwAh BaR C
1 5T 92 # fore wien & R A S
e fea w21 23 T U W F d
e W e o6 A e T N
{a) 3 hours (b) 2 hours
1 1

o) 2 -2* hours id} 35 hours
[SSC MTS Exam 17.03.13|
A pipe can fill a cistern in 9 hours.
Due to a leak in its bottom, the cis-
tern fills up in 10 hours. If the cis-
tern is full, in how much time will
it be emptied by the leak ?
Y A TE FH B o W H W B I A
T § D% g S FROT T TR W10 R
Hoa R W, F A AR S
Fo <) ffe ova | w8t ei?
{a) 70 hours {b) 80 hours
{c) 90 hours {d) 100 hours

|SSC CGL Tier  Reexam 24.03.13)
Which of these pipes will empty a
pool the fastest ?
T A @ wel w4 aEn wH e E g
Coek B
{a} One pipe of diameter 60 m
(b} Two pipes of diameter 30 cm
{c) Three pipes of diameter 20 em
{d} None of these

(SSC MTS Exam 17.03.13)

YEAR : 2014

A water tank can be filled by a tap
in 30 minutes and ancther tap ca q,
fill it in 60 minutes. If both |
taps are kept open for 5 minutes
then the first tap is closed, how lon

51.

52.

53.

will it take for the tank to be ull ? ¥

TF TR UF T H IR A 301’::31:
mwwﬁwﬂmaﬁﬂ&
%l 5 fime % g =i i

e o T
{a) 20 minutes, %

54,
in 36 minute¥ and 45 minutes re-
spectively. Another pipe C can
empty the tank in 30 minutes. First
A and B are opened. After 7 min-
utes, C is also opened. The tank is
filled up in

[c} 30 mi es“; %[d) 45 minutes
85C CAPF s, Mgt &'DP 1 Exam 22.06.14)
Two pipes Aa_a B can fill a tank -

7 mw A 3 Buw 3% % wEw: 36 fire
7 45 foe § 9T T 21 A9 TEW C TR
= 30 Fre § wrelt ¢ T £ wed A sl
B # wien s 2, 7 fie =) o=l oft '
e s 21 ¥ e wwa H

(a) 39 minutes (b) 46 minutes
{¢) 40 minutes {d} 45 minutes
S8C CHSL DEO & LDC Exam 16.11.14)

Two pipes A and B can separately
fill a tank in 2 hours and 3 hours
respectively. If both the pipes are
opened simultaneously in the empty
tank, then the tank will be filled in

= uEy A 3Rk B el 3 B sTem-wem
FUN: 2 T 3T 3 W O R e B ARk TR
g R T g @i e s wel R
w9 F fira o e
{a} 1 hour 12 minutes
{b) 2 hours 30 minutes
{¢) 1 hour 15 minuates
(d} 1 hour 20 minutes

(SSC CHSL DEO & LDC Exam 16.11.14)
A tap drips at a rate of one drop, sec,a_z':_g

55.

56.

_.%_

59. Two pipes A and B can fill a tank
with water in 30 minutes and 45
minutes respectively. The third
pipe C can empty the tank in 36
minutes. First A and B are opened.
After12 minutes C is opened. Total
time {in minutes) in which the tank
will be filled up is:

T UET A G B OF I FFwE: 30 e
e 45 faz & w5 &1 wEe C I H 36
firte ¥ wrell 2 3 &1 TER A w9 B @ien
a1 3R 12 fre & @R ¢ wten T, @
a\w%ﬁwﬁ(%ﬂ)zﬁﬁmmﬂ?

)
N %b} 24

;—
@‘»&% kS {d) 36

(sgc CBE 16-8-2015, Evening)

{a} 12

fc) 30

’ﬁhﬁ can fill a tank in x hours

fmother can empiy it in ¥y hours.
In Rours many can they together fill
% .:lﬁn iy >

4‘“‘*‘ U UITY W ZH B a5 § R G

600 drops make 100ml. The % # 3l
ber of litres wasted in 300 %15‘% THU WY T Fry 9 § @t X wwa £,
o @ ¥ T g7 TS W w A A P W < W faer i R
21 600 R fiwr 100 frelieiR TR 57 (3 )
300 fet # et offet AR 7 TAY X
(a} 4320000 [bp& 8000
- bl v —
(¢} 43200 Afdrag2 @ x -y by
ISSC CGL ’l‘iérl !:xam 19.10.14)
57. Having the" r@aﬁlegl}q,pamty 9 taps fill (e} *Y @ *Y
up a water, 3 20 minutes. How x -y ) y-x

. same capacity are
t II up the same water
inutes ?

W#gwqmmﬁaﬂm
) iz ¥ 4R 3| THENE AW R
e 7@ @ T H IH A 15 d
’*’\mm??
(&) 10
15

many tap§

LA

(b} 12
(dy 18
{88C CGL Tier Il Exam 21.09.14)

A cistern is provided with two pipes
A and B. A can fill it in 20 minutes
and B can empty it in 30 minutes.
If A and B be kept open alternatively
for one minute each, how soon will
the cistern be filled. ?

3 TR A Sl B2F H o €U 31 Y A 20
fre § e % @i R B 30 e §
wr #) oft A 3R B YAT W IG-TE R
ww-uF e & fom = o 2, 99
T g A wow?
{a} 121 minutes (b} 110 minutes
(¢} 115 minutes (d} 120 minutes
(88C CGL Tier I Reexam 20.07.14}

58.
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(SSC CGL 09-08-2015, Morning)

61. Pipe A can fill a tank in 4 hours
and pipe B can fill it in 6 hours. If
they are opened on alternate hours
and if pipe A is opened first then in
how many hours, the tank shall be
full?

IRTA 452 § am g9 B,6 2 H fed =
W W wH 2 G ¥ -UF N w fou

T I 2 o % Fw oar wum # el
afz ey A TZE wen W R, @ G e
o ¥ 9T Snen?
1 2
4= 4=
@ 2 {b} 3
31 31
{© Py (@) Y

[SSC CGL 09-08-2015, Evening)
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62,

63.

64,

Pipe A can fill an empty tank in 6
hours and pipe B is 8 hours. If both
the pipes are opened and after 2
hours pipe A is closed, how much
time B will take to fill the remain-
ing tank?

TEY AT Tl 9% i 65 A W Tl #
s oY B8 W W W wewa #1 af 34wy
Y wel WY AR 2 W R Iy AW
fem e, o 9w ¥ w0 S B fwa woa
ww?

1
a) 75 hours (b 25 hours

2
] QE hours  (d) 35 hours

{(CGL Mains 25-10-2015)

A tank has two pipes. The first pipe
can fill it in 4 hours and the sec-
ond can empty it in 16 hours. if twa
pipes be opened together at a’time,
then the tank will be filled in

wF ¥F o <t uRy W E) v Ine 39 49
H g # o 3 W 169 N wRlt W
W &1 Al T TR ouw @ oA @
Y TE W A I TR gaE § o

|
{a) 55 hours (b} 6 hours

1
¢} 10 hours (d) 55 hours

{CGL Mains 12-4-20185)

A pipe can fill a tank i 24 hours.
Due to a leakage in the bottom, it is
filled in 36 hours. If the tank it half
full, how much time will they take
to empty the tank?

TF WY OF I # 24 W W m%ﬁlﬁ

o foa 3 BR0 9% 36 W2 W 31 Ak 35
mmwg&rﬁ?ﬂwﬁﬂﬁﬂ%m&w
H =l gm? \

65.

66.

AT A

(@) 24 hrs/492 (b} 48 hrs/=2
(¢} 36 hrs/= (d} 72 hrsjH

{(88C LDC 1-11-2015, Evening)
A water reservoir has two inlets
and one outlet. Through the inlet
it can be filled in 3 hours and 3
hours 45 minutes respectively. It
can be emptied completely in 1
hour by the outlet. I{ the two
inlets are opened at 01:00pm and
02:00pm respectively and the
outlet at 03:00pm then it will be
emptied at.

uw R ¥ T waw WEY s uw fem
urzq #1 937 UEe | @ FA: 3 62 e
3 92 45 fz § W S gl 21 FrErE
oY 3 3 | A A qu = fHm o
W 21 afE A gAY e 3

01:00 T4 37 02:00 79 =w fag =0

o A1 qrg & QU 03:00 T @i
o7Q o 9% fHad w9 =t § mem?
{a} 05:55 pm ib) 05:00 pm

(c} 05:20 pm ) 05: 3%?:1

(SSC LDC 20-12-2015, Evehénz}

Pipe A can fill the tank in 12
hours and pipe B can fill the
tank in 8 hours. A‘thn‘d pipe
C empties thank i 1;1 15 hours.
If all pipes; “dre i:rpened to-
gether:ghers »*after 5 hours
what pomqg of the tank will
be filled; #

1zﬂéﬁaﬂwlqu§$
%ﬂiﬁmmélw?ﬁmm
C %5 =1 15 53 ¥ wreht = WA

Rk W T O W g R S R

45 HR ¥ fEwn am e ST

24
@ 53 b) 77

™

1
© 120 120 @3

(S8C CPO{Re) 04-06-2016, Morning)
67. Pipe A can fill the tank in 8

hours and pipe B can fill it in
12 hours. If pipe A is opened
at 7 : 00 am and pipe B is
opened at 9 : 00am, then at
what time will the tank be
full?

mA@%ﬁsﬁéﬁmmé
ai‘lﬂlsﬂBﬁmglza%ﬁwm
2 oY B TEE 7 00 W
molegi® o B F T 9
00 T Fgsam & A IF 5 T
7g g

ﬂea)fa 00 PM (b) 12 : 30 PM

-\,L(c)zll 48 PM (d)12: 36 PM

§ a{gﬁ‘c CPO[Re} 04-06-2016,Evening)

'63 Two pipes can independently

fill a bucket in 20 minutes
and 25 minutes. Both are
opened together for 5 minutes
after which the second pipe is
turned off. What is the time
taken by the first pipe alone
to fill the remaining portion
of the bucket?

A Y TF A0A D A @A 9
| 20 firr it 25 iz § = vt 3
[ Y W T Wy @ W # e
5 fiz aR W 9RT H & T T
EfIE il e o
e WY W feaw wwE femn angn?
{a) 11 min/fF= (b) 16 min/fFe
(¢) 20 min/fFR (d) 15 min/fme

(88C CPO(Re} 05-06-2016, Morning}

1. (b 8. (M 15. () 22,
2. (b 9. (d) 16. (c) 23,
3. (o 13, fc) 17. (d) 24,
4. {a) 1. (d) 18. (a) 25.
5. (b 12. (b 19 (d) 26.
6. o) 13. {d) 20. (d) 27,
7. b 14. (g 21. (b 28,

(d)
()
{a)
(d)
(c)
(d)
)

ANSWER KEY

29, {c} 36. (d) 43.
30. (¢} 37. () 44,
31. {a) 35. (b) 45,
32. (a} 39. @) 46,
33. b 40. (b} 47.
34. {a) 41. (c} 48,
35. (o} 42. (a) 49,

()
()
(b)
(d
(a)
(a)
()

50. (o) 57. (b} 64. (c)
51. fo) 58. (c} 65. (¢}
52. (a) 59. (b} 66. (a)
53, (d) 60. {(d) 67. (d)
54. (b) 61. (b 68. (a)
55. (a) 62. (d)

56. {d) 63. (d)
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) SLUTI

L ®) (Tatal GBapacity %7 wftm)

eff.(unit)/min3 2
Minutes—s (QA)} (S'

{A+B)'s capcity of filling for one
minute {A+B) g0 1 fiFe # wa T

= (3 + 2)= 5 units/minute

(A +B} can fill the full tank in (A+B)
R WEH P

Total capcity
efficiency of Aand B

60
? =12 min,

1
2. b If 5 unit of tank holds 80 litres

1
(3 2 v 3% 3 e so T )

Then 1 unit of tank hold @ T gfE
& = )

80

1

3

80«3
- = 240 litres

1 1
then, E unit of tank hold (& “2— M

1
F 9 &mn=240x5 = 120 Htres

3. o) (Total gapacityl
By PN\
howrs— 12 1

0
pipe —>{A) (B) (ClA,
First hour, A and B works

ther
and in second hour ‘A rks
together and It b AesY cycle.

wﬁﬁAWBﬁﬁ&%‘:m%m
| =0 A ¢ ey v i € il T

{A+B)'s gne Adr Wérk (A+B) $ T
® = 3 = 9 units
{A+C)'s on¥ hlur work (A+C) F TH
92 F T =)5 + 3 = 8 units
They complete{9 + 8} =
17 units 2 hours
=3 =3
51 units 6 hours

=]

Capacity left (Y9 &1} = 60-51 = 9 units
Now 3 cycle's are completes
Now pipes (A + B) will start filling
then they will fill it in (39 (A + B}
WY W YE FW Y A

total capcity left ¢

= efficiency of A+B -5= 1 hour

overall 1 unit/hour will be emptied.
(@ gfve wia s wel g S

Full tank will empty in(T{ 2% =
A H = )

total capadity 26 20

- =— =20 h
Aseff. +Bsefl. 4#5 -1 ours

i T

Total time = 6 + 1 = 7 hours 7. (b 2_,.«@..
4 @ T o,
efﬁcien%{_}?
unit/minl 2 =
,g&qu:rs—b 3
Minutes—» 0 By,
Tap —» (I') (™) _ ’X (A) {A-Leakage)
:"Ir.c=m total I:apacityi " X& }s efficiency is 7 units/hr (A 1 &M
+ one hour empting efficiency 3 .
([+ 1% Eet 7 ) uw 52 =1 b“‘* v 7 g s v )
= (2 + 1) = 3 units «:@ A's efficiency after leakage 6 units/
(I + II) can empty whole t hr (19 3 9 A %1 1 e 6 If= vfa
([+1 T F ) anedt 5 ) N sad)
| Leakage efficiency = 7 — 6 = 1 units/
%30 ufin. hour
5 Pipe2 Leakage will empty the fully filled
tank: (FEm@ gm off 251 it @ell a3 o
0 ferm T wHE)
_} T.C 21
Efficiency =_1_ =21 hrs
4nD?
. . 8. (b
efficie ol¥draining 1 : 4 {Total capacity)
Pipel Pipel W)
efficiency 1 : 4 o
Time 4 : 1 unit/min—» 5 14\
x10 x10 min — 60 75
Actual ! 50
time 49 min 10 min (A) B (A+B-C)
6. (9 {Total capacity} {C is third pipe It is emptying pipe
20 unit (C % <90 THY § W 'eh w1 )
unit/hour  + _5 efficiency of A+ B-C =6
5+4-C=¢6
5 4
hO‘urS—) (A} ‘B] - C - 6 —5 - 4
{+) sign shows filling efficiency ~-C=-3
(+ HFd WE T AEa H I )

{(-) sign shows emptying efficiency

(- Hd Wiell T F G5 Bl T )

If A and B work simultaneously.
Then A will fill 4 units/hour and B
will empty 5 units/hour(A¥ A a9 B
™ WY ¥ TR 2, @ AW N 4 g
o # ol B 9 g i g awht w
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C = 3 units/min

Third pipe can empty the tank, (@&Q
gy ¥ 1 @t wm

T.C. 300
— =100 minutes

C's eff. 3




9. (d) Let total capacity of tank (/T %
FH H F[E 9@ = 6 units

~. Efficiency of A/hr. =
Half tank capacity (3% 24t =1 uifeam

6
— = lunit
6

6 12.

= 3 units

It will be filled in @9 W& § &m wom
=3 hrs

According to question,

3 more tap of capacity (1 unit/hr)
are opened with first tap

Total capacity of 4 tap (4 & A

N = 4 units/hrs

T.C

They will complete in= ;Tl'-u:i;c_y

3 units 3

= 4units/h ~ 4 hours

3
Total time = 3; hrs

= 3 hr.45 min 13
10. (o)
PipcA : PipeB
efficiency= 3 : 1

Time 1>:<3

. { efficiency and time are
efficiency 3\/ inversely proportionat)
3

{T.C})
Total time taken by

A +B (A +B 0 o T wm W

T.C 3 3
= efficiency of (A+B] 3_+_1 =4_l

Z units of time = 36 min

1 unit of time = 36x 3

{B takes 3 units of time to fill a.lorf% :

4
3unusofl:|.me=36><§x3 Mmi.ns 14.

11. (d)

ébféqty)
efﬁcimci._—) L

hoursﬂag 3 e 4 2
A% (B (C)

(A and B a% filting pipe and C is
empty pipe (A 99 B WA a5t Ty 2 am
C &l H T wdy )

If all pipes are kept open then unit/
hr filled:

A+B-C

=]

- ()

=4+3-6

= 1 units/hr

Empty tank will be filled in (Sf It
T.C 12

efﬁcienc; = T =12 hrs

A 3§ T W)

(b) .
(Total capacity)

efficiency—> 4 3.5N2

hours— 15 20 30
pipe —>{A) (B) Q)
(A and B— filling pipe, C—>waste pipe)
According to questions
All pipes function simultaneously
(o Y T T G 3
A+B will fill (4+3} = 7 units/hr
C will empty =2 units/hr

total filling/hr = 7 - 2 = Sunits

kavﬁl!beﬁﬂedm(?ﬁﬂﬁﬁmwk

T.C 60

Efficiency - E = 12 hrs

(Total capacity)
225 G

efficiency ¢

Minutes—» -7—5 o
A,
According to ;'ui'estio'ns'-

cistern fills in 80.minutes (F9 30
firme o ‘HI ?I'I'EITIT o

So plpe ‘A v,'orkecl for 30 minutes (314:

TERA 3&; firfe Fm =T )

H: ﬁm 30=6 = 180 units

Cap;tcnty left (@9 wifem = 225 - 180
= 45 units

So this left capacity must be filled

" by B (31 9 af@ B )

45
Bnmsthaveﬁ]leditin‘g‘=9m.in.

c
() (Total gapacity]
efficiency-> 2 - )
hours— 8 16
o w B
pipe—» filling emptying

One hour work of Aand B (AT B %
UF U F FM =2 - 1 =1 unit

Time taken to fill the empty
cistern(@Et @9 T w3 § 0w wwy)

T.C 16

eficiency T 16 h.rs.

"x

15.

17.
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£

'awﬂf:hﬁﬁmm

(b) (Total Sapacity]
efficiency—> 5, -8

hours— 8 5

(A) B
pipe— filling emptying

If both pipes are open, then total

units/hr empty the tank (3% 34 9y

e e w8 4 2 vl w2 el i) a

-B)=5-8=—3 units

According to guestions,

3
Tank has Z %fﬁts total capacity in
2 Y
PR
begmmg &éfﬁﬁ =30 units

i

Tlme taken-to empty the tank (T

30
(_3) = 10 hours

A6 Lc’]l According to questions,
. If tank has 4x litres of total capacity

and it holds 3x litres of water and,
if 30 litres of water is taken out,
then tank becomes empty. It mean

3x litres of water is taken out(@fz 2%
#Ft F@ wiE@ ax e 2 ol T ax i
&1 g 30 whex w Praven s 2, At
2 W 7 R 8, T e # i G @
3x @t Tt e T )

3x = 30 litres
x = 14 litres

*. capacity of tank(ZH = Wi

= 4x = 4x10 = 40 litres

@ {Total capacity)
80
efficiency—> 4 -3 units/min
minutes—45 60
(A) (B
Tap — filling emptying

in first minutes A fills 4 units of
water (760 f2 A, 4 Ifwe It 9@ B)

In second minutes B empty - 3 units
of water@R fore ¥B 17 3R Tl = §
After two minutes tanks has 1 units

of water. (3 e & MX #01 4 & P
o B
NOTE: Decrease the higher

value i.e 4 from total capacity
180-4 = 176 units.

1 unit filed in 2 minutes @& fFAe &
T e w0 T

176 units filled in 352 minutes {352
foe F 176 9= w1 T

Now in next minutes pipe A will
fill 4 wvnits. And tank is full so total
time taken is 332 + 1 = 353 minuts

or 8 hour 53 minutes




18. {a) Pipe A : Pipe B
diameter D : 2D
2 2
D 2D
al—| . n|l—
2 2
nD2 D2
4 7
nD? 4xD?
1 4
A B
eff. 1 4
Time 4 1 21,
<10} Jx10
40 min 10 min
efficiency —» 1 4
40
(T.C)

(A+B) empties in (A + B 2R @l HH

40
o foa T 999) - .~ 8 minutes

19. () (Total capacity)

efficiency—>» 4, 5\15

12
B
+

hours— 15
Hpe—»“%]
thiling (nglin)g (emptying pipe)
Pipe A opens at 8 am. it filis 4
units/hr (T A 8 am T @A T 3R
78 = Yfie wid viar v #)
Pipe A fills 4x3 = 12 unit in 3 hrs
S0 by 11 am. it fills 12 units
Similarly
Pipe B opens at 9 am. it fills 3
units/hr{IEY B 9am F Sien T R 7
ot g wfr s e
By 11 am it fills 542 = 10 units
total water in tank till 11 am (11 = -
T 33§ w/W U F A < 124 10

22 units : *

Now, 11 am onwards all pipes <
simultaneously including emptyi® J

pipe.(11am & P Wt wEw (‘Eﬁﬂ C 2s
mqﬁqﬁ)wwamm
{A + B + C} efficiency g

- 6 units

So now & unit will 3 %g ied per
hour Tank will be ti
4
% inutes

= o 3=
‘min.= 2 : 40pm

4
<l

15 =

6 6

ilam -
20. (d)

/
[Total capacity}
14

efficiency 7 6

7
3
{A -Leak}

hour — 2
A

=]
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efficiency of A(A F1 &4 smwan) = 7 24 (@) Pipe A : Pipe A-leakage
units/hours efficiency— 2 : 1
efficiency of A after leak(foE & a7 Time 1>:<2
A& =@ §9E) = 6 units/hours «36| 1 unit= 36hrs
Leak's efficiency(fta@ #t awa = 7 -
6 = 1 unit/hour 36hrs

25. (d) let (A + B) fills 1 litre in 1 min-

Now leak can draw Full tank i
ow leak can draw Full tank in utes (7 75 (A + Bje e F o= e

T.C - 14 'q'q"‘ o -rrq-n

efficiency of leak 1 ~ 14 hre then (A + B% fills in 36 minutes (A+B)

; T 36 fie § g @ Tl = 36 litres

otal capaci
®) ™ 0 pacie) According to question
{A+B) work on.ly 30 minutes then pipe
efficiency=-> 3 filled by (A+ ) mimutes is = 30 litres
qmM) = 6 litres
. by A in(6 #fEX 9
minutes — 20 30 _ .
(Al (B T4} =10 minutes
filling pipe 10

According to questions,

Pipe 'A’ is closed after some time.
and Tank is filled in 18 miuntes so
B started filling in beginning and#,
worked till last i.e 18 minutes(T§Y '.
AED T F AR 7= W fe s # s
#9 18 firie # W W ¢ 9W: BI®

1t filléd by A = & minutes

,@rmedbymaﬁmqﬁﬁam

10
" ) =

A + B = 36 minutes
A = 60 minutes

% 36 = 60 minutes

TH HIA F@ D) o )
S0,2 x 18 = 36 units is filfE, ) T
Work left = 60 - 36 = 24 unit
This 24 units mus ed by pipe efficiency — 3 5 litres/minute
A in beginning.(24 Ll |
TE9 A G TE H W 6 36
‘_ (&) (A+B)
“ = 8 minutes A's efficiency(A ¥ &4 sman = 3
litres/minutes
B's efficiency (B ¥ ®1d &Ha) = 2
litres /minutes.
B can alone fill the tank in ((B 877
R TH F T T 7w
ours—»
{filling) (emptying} ] T.C ] 180 - 50 minat
Total efficiency of both pipes isEMl eff. of B 2 minutes
vl H w s\ (y - X /hr (Total capacity)
Tank will be filled in(Z# s ¥ 26. (0 10T
oM "@HY)
efficiency—> 6, SN\8
Xy
y—X hrs minutes—»2 4 15
ic) Apply formula of w B (aB)
(A+B-C) one day work = 8
MDDty _ MyDohy 6+5-C= 8
——— 11-C =8
1 Wo cC=8-11
Let 'P' pumps are required to empty c=3
the reservoir. (W & S =t =l C=3units T.C=120
F 4 P o F ww@ i) <1 1
12 % Byppe *15, PxQy e 12
i s e Actual 3 Galons 120 units
lresmw l,mw empty_ing
P = 10 pumps capacity
= 120 galons




27.

28,

29.

.

{d)

efficiency 3915 -12

hour— 4 12 10
P Q R’ (8)

In order to fill the cistern in less

time. (@1 # F9 THA ° w3 F fay)
So efficiency of filling should be more
(3Ta: W F w0 e 2t e

Now, check all options (84t famemi
w3
{A) —» Q efficiency 15 units/hr
{B} - (P + R — 8} efficiency

=30 + 10 - 12 = 28 units/hr
(C) -3 (P + S} efficiency = 30 - 12

= 18 units/hr

iD) =P + Q -5} efficiency

= 30 + 15 - 12 = 33 units/hr
Option'D)’ is answer.
Since efficiency of option'D’ is

highest. {fa®ea D #1 wrfsma waifas &)

(d) .
{Total Sapamty]

efficiency— 3

hours — 10 15
-4) -A+B)
Emptying Filling
Pipe A is emptying at 3 units/hr (Y
AdA IR wft 52 al = w )
When filling pipe'B’' start function
then emptying rate comes down to

2 units/hr(FA T FEN WY B @A
= € A mrel ¥ 5 fa 2 gfe ufa =R
=9 I §)

So filling pipe efficiency is(*= a8
Y F FHREEA) (3 - 2 ) = 1 unit/he -
Pipe ’

30 7
= W o fon wua) - 5 =80 hrs

L)

filling rate is 4 l1tres;‘itunntes

It will fill 4 x 60 = 21}0 Hres/hr.
Total capacnty’ ﬁ‘ 240«30

00 litres

efficiency—> 3

hours -»4 6
A (B)

A will fill 3 units of water in I* hour

(s W2 ¥ A dr 9fR T

B' will fill tank in(B T¥Y 2 2%

30.

31.

32.

B will fill 2 units of water in [I"™
hours (§9 7< ¥ B ¥ gfAE wim)
5 units in 2 hours (2 92 ¥ 5 g Tm

S5 units is filled in 2 hours
>(2l x2l
10 units 4 howurs

Work left = 12-10 = 2 units
Now, A will begin he completes 2

2

units in 3 hours

2
Total time =4-§ hours

e} Qty Time(in minutes)
Boy — 4 litres 3
Girl > 3 litres 3
Boy — (4 3)x4 = 16 litres
in 12 miuntes
Girt > (3 4)x3 = 9 litres
in 12 miuntes
(Boy + Girly pour
25 litres 12 minutes
><4l X4l
(@) 100 litres 48 minutes
{Total capacity}
0 .

efficiency—> 3,

hours —10 . - 15

CY B} _

efficiency of both pipes @R TEW =

FRGHA) = 3 + 2 = 5 units/hrs

They both will*fill' the tank in(Zat

M THR W K W A T wE)
. T.C ~ 30

-Efficieney S
(a}._{et' total capacity (M % =@ =iftn)

= 42 uintis

= & hours

42
. (A+B+C) per hour work = E‘ =7 units

A+B+C fills 7 units/hours

They all worked for 2 hours (& &+t

e Fm wH {)

Total water filled {70 §a2N HA THY
= 7x2 = 14 units

Capacity left (¥8 oI = 42 - 14 = 28

A+B = —?';' = 4 units/hr.

{A+B} efficiency 4 units

C's efficiency(C Tt HTEsM)

= [{A+B+C) ~{A + B)] efficiency

= 7 -~ 4 = 3 units/h

C can alone fill the cistemn in {C aE B

T.C

i ) Eﬂicxencj‘,: B _‘3'- = 14 hrs

33.

34.

T

35.

36.
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{Total capacity)
(b) P
efficiency—> 4 3\12

hours— 30
(A)
C's efficiency{C F1
= efficiency of (A+ B + C) — efficiency
of (A+B) = 12 - (4 + 3)
= 5 units/minutes
C can fill the cistern alone in{¥Hd

C g B i 9§ T
T.C

40

10
(B) {ATB+C)

120
- 5— = 24 mintues

P 60
5 ) (B)
filling emptying

“Tatal unit of water filled is (W} TE

T # FA YR} = 3 - 2 = 1 unit/min
Tank will be filled in@® w1 ¥ @

120
gy = -
Tank wili be filled in 120 minutes
czal 120ﬁ1zﬁqurn]=2hrs
(¢} If emptying pipe empty half the
tank in 10 hrs then emptying pipe
empty full tank in(@fE = Eh‘l%(

g el IH H 1os|éif@1?ﬁm%?ﬁ
% Y0 TR F @R S 10 x 2= 20 hrs

= 120 minutes

(Total Sapacity}
efficiency—» 5 3
hours —»12 20
Al {ﬁ}
filling emptying
{A-B} efficiency = 5 ~ 3 = 2 umnits/h
lofre 30
= 2 = — =15hm
2 unit/s 2
(d) (TOtail %apacity]
efficiency—> 3, —2
hours —»40 60
(A) (13)

filling emptying
Total unit of water filled is (*11 Y

TR T HE AEY = 3~ 2 = 1 unit/min
Tank will be filled in @% ¥ 93 & @m

120
- T = 120 minutes




37.

38.

39.

=]

(d) (Total capacity)

efficiency— 5, 4
minutes-312 15
13 Q)
(P + Q) efficiency ([F49TM) = (5 + 4)

= 9 units/minutes

{P + Q) fill in 3 minutes @A fiFe o

W) = 9 x 3 = 27 units

Capacity left(fr7 a1fiay = 60 - 27

33 units

Q fill remaining cistern in (919 &9 =

QI H T T Efﬁciéncy of

33 | R
= — = 8— minutes
4 4

() (Total gapacity}

efficiency—> 8 6

hours —» & 8
(A) B

(A + B} fill a tank in 2hr (2 5 o (A+B)
B W T I = (8+6)x 2 = 28 units
Capacity left = 48 - 28 = 20 units
B fills
20 10 _1

— = — =3— hours
6 3 3

remaining Cistern in

{Total capacity}

()

hbkage(ﬁwa # g

units/hr

Leakage %, 1 unit/hr

Leakage empty the whole cistern in
(fema g O 75t =) =t + § @ a9y

—]-— = 40 hours

40.

41,

(b (Total Sapacity]
efficiency— 6, 5N10

hours— 10 12 6

) Q@ (€
(P + Q) fills (6 + 5) = 11 units/hr

C empties = 10 units/hr
If all pipes are open (@R Wit Wy T 7
So, only 11 - 10 = [ unit of water

can be filled in tank

arm

1 1
— of tank will be filled in [ —
4 4

Y T w0 w9

ﬁciency =

=7 am +15 hr =

10 pm
] :

a3

(B}

Pipe A wiil fill 3 its till 11 am.(11
am 7% TEEA TR i )

capac1tyﬁftfﬁ'q mﬁ'ﬂn =6— 3= 3 units
Nowy bath pipes will fill and they will

:'@m(meMWﬁ formn T wHy

1.C 3 3

— = = —
Efficiency (3 + 1) 4 hours

3
. So, (IHZ]ﬂm, tank will be filled

=11:45 AM

. (a) let total capacity of cistern is 5

units(A FF Fr ) wer e 59 8,
filled part of the cistern (89 %1 ¥T

BHT 9M) = 5 units xg
Rest part of the cistern (1< = 919 W)
=5 -3 =2 units

3 units filled in = 60 sec.

= 3 units

6
1 unit filled in = ?

. 60
2 units filled in = ?x 2 = 40 sec.

(Total capacity) o

43,

44.

45

46.
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{c) Volume of cistern [ #1 7
2

=xr-h
2r2 xn = 11000 cm?

22 25 25 3
— #— x — x b = 11000cm
7 2 2

11000X7)<2><2
22><25><25

28x4 112 2
h= —— =— = 22—
5 S cm

(a) _ _c’r”btag; capacity)

“hours — 8 10

A) (B}

_.;-{A+B}s ane hour filling (A + BJ® &M

w5 52§ W) = 9 unit

{A+B)'s 4 hour filling (A+B) ® M 4

2§ 97 W) = 9x4 = 36 units
Part of tank filled {Z%! #1 w0 g3 o)

36 _ g
40 10
(b} :
{Total %apaaty]
efficiency—> 3 2
minutes—» 20 30
(P+Q) 3]

Efficiency of Q
= (efficiency of P+Q — efficiency of P}

= (3-2) = 1 units
Q can alone fill cistern in (Q §7 3Hd
o= Wt wE § wm qee)
T.C 60
efficiency 1 = 60 minutes
(& (Total gapacity}
efficiency—»1 6 N5
hours— 3 2
5 B ©

If all pipes are open efficiency of fill-
ing/hour is

@z weft o 5@ 7 & w9 aw Fi e

) = efficiency of A + B ~ efficiency
of C = (10 + 6} - 15 = 1 unit/hr

1 unit is filled in 1 hr(l 52 ¥ uw gfe
W T

30 units is filled in 1x30 = 30 hrs




47. @) (Total capacity)

efficiency—> 3 2

hours— 4 12
(a) B) (<
(A+B+C)'s efficiency (FRSHAT) = 3+2+1
= & units/hr
(A+B+C) can fill the tank in

T.C 12
" Efficiency of (A+B+C) ~ g

(a) Always try to solve these ques-
tion by options to save time.(7 Fi
TR % AU 0 R $ v 6 e %
e o T Y

[Totﬂ ﬁ?frfﬁljv]

efficiency—» (x+10

=2 hrs

48,

x

hours— (4

(x) x (x + 10)

= (x+ 10)+x

(c+10)

= total time taken by
5t.

both pipe (4 T g fern T FF Ty
Now take out one option and put it
in place of 'x'

= x = 20 (from option (a))

(20) % (20 + 10) 20 x 30
(20+10)+(20)~ =12 hrs

It matches with question figure.
Total time matches. So this is an-
swer 20 hrs

49. (b)

{Total capaci
1 cap ty) a\

efficiency—> 4

rmnutes->24

If tank is to full in 18 mi tes so

pipe 'x will work for
utes (3% &5 18 fFe o
qaaa%ﬁlwiqxls

Pipe'x' fills i (18 ﬁFE ﬁ'
WY x WA

72 units

Capaci 2 = 24 units
So left tanik/cistern must
be filled by'\pipd'y'(3@: ¥u #9 sfrErda:
Y Y ZA R S

. 24
pipe y fills in —3— = 8 mins

So, after 8 minutes it must have closed.

=]

. )
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53. (d) )
{Total capacity) (Total capacity)
6 60
efficiency— 6, 4\3 efficiency 5
i 30 60
hours—s & " minutes— 41 B)
(a) (B} ©

In half an hour (B+C) must have filled (A+B)'s filling (2+1) = 3 units/min)
4 3 7 In 5 minutes. they will fill 3x5=15 units
= 55 T punits Capacity left (¥4 ST@) = 60-15 = 45 units

Second pipe (B) fills it in (gt Wy B
z T.C
efficiency of B

7 _65
Capacityieﬁ(a‘lwrﬁa]ﬂﬁ—a =~ units

Now, all pipes will fill the remain-
ing tank (5@ ®+l Yl g 9N d@t @
W W oAy

% minutes

% 65 3
2x(6+4+3) 2x13 2 [Totallcépacityj
1
=2 E hrs @J efficiency—> 3 6
(e} minutes—» 36 45 30
(A) (B) ©

(A + B)'s 7 minutes filling (A+B)} W13

fe & WM = (5+4)x 7 = 63 units
hour — 9 10 .
{ - (A -Leak) Capacity left = 180-63 = 117 units
Efficiency inSfith leak is 9 units No?v C 1ls opened, it empties by 6
& ; ot units/min. (3@ C @& far @ @k T
: units 6 I it iz Tl w ?)
9 units So total units filled in tank is
=9 -10 = (5+4)-6 = 3 units/min
jcak = 1 units/hr N tank be filled in (3@ 290
les wmemptytheﬁmtankm(ﬁma ow tank can be filled in
:rtr 2 i et FE F 7 T 117
@ W& § @0 99 = — = 39 min.
T.C _90 3
* Efficiency 1 ~ 0 brs Tank is filled up in = 7+39 minutes
52. (a) Flow of water depend upon = 46 min.
Pipel  Pipe2 Pipe3 55. {a) 6
Diameter—» g0 30 20 .
radius —» 30 15 10 efficiency »
2 2 r
™ {30R W (ISP T (10) hours. \
900x 225n 100 = (A B)
u;'u't of water (A+B) fill tank in (A + B) 30 251 ¥ o
Ley can flow 900 225 100 T.C 6
o of pipes 2 3 MW = T o =
Total water. 350 300 Efficiency of (4+B) 342
flower

So pipe 1 with diameter 60 is fast-

1
= 1= = 1 hour 12 min
est (60 T = v THY A diawm ) 5




56. (d) 1 sec — 1 drop

No of second in 300 days.
(300 f&Ai 4 dBvz = wEwm)
(24, = 60, % 60_}x 300 days
No of litres wasted

(w4 gL el 1 wem)

24 x 60 =60 = 300

100x% = 43200x%100

= 4320000 ml

4320000
= ————— =4320 litres
1000

57.
(&) mlxhlel m2xh2xT2]
W W,
9., %20 =T, x 15
T= 12 Taps
58. (0
(T.C)
60

efficiency . 2

minutes-»20 30
G (B)

A fill 3 units in first minute and B
empties 2 units in second minutes

(A g fire W 99 7R v # T B
e W % gfR Tl w3
(A ~ B)'s efficiency = 3-2/2min

= 1 units/2min

Efficiency Time

1 2

=57 57

57 114 min
Awork +3 +1

60 115 tin

They take to fill 60 units in (60 I
ﬁﬁﬁwﬁmmwm 115 min.

+) 45 minutes

{-) 36 minutes
(A+B) in 12 min
= 12x(6+4}

30min. 45 mjp. N .
59. (b (9 -+ 5]
@i\v‘ao minutes

= 12=x10 = 120 litre
= Rcma.lmng capacity (¥ i)

= 180-120 = 60 litre
= After 12 min. emptied pipe C is
also opened (12 fz IR fasmft 7= C
ot |er wmam)

=]

60.

61.

= Total capacity (A+B~C} 62.

=[6+4-5)=5L/m
= Time taken by (A+B-C) with
capacity 5 I./m.
to fill the remaining part (5 [/m. &W®
Y 9 ZF F(A+ B~C) TN T § 7 T

60 1. )

= = 12 min.

5t/m.
= Therefore, total time which the
tank will be filled up is (31@:; ¥F =
T H WM R T = 12 + 12

= 24 minutes.

) xy ( Total Cdpacity /%8 v}
¥ X
A B
x(#) ¥ 19 emptied 63.

_ hour hour
Time will be taken by with of them

to fill the tank (3 g ¥F | o

.V'

a3 | @m ') =

) A > 4 hours
B — 6 hours

Tap A will fill the 2 litre water with
2
its efficiency = 5

— Therefore tank will be filled in
(¥4: &F N 96 o T 1= M)

4+EJ 42
= 3 hours = 3 hours.
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g}e? 64.

{d) Total capacity = 24
= wfmm
A

2 hours work of both pipes (i =it
F 2 52 F1 faee 5 T Fm)

= {4+ 3)x2 =14 units

Capacity Left (3% wif@n) = 24-14
= 10 units

Now B fills remaining capacity of
tank in (3@ ¥ 8% H B WOW)
B

10{_‘31 3 %‘9
= 3 g, YOMIS
{d) Acoord.mg‘to the question, (FFFER)
A-& 4h *

unit/hr
T >1e {Total capacity)
“g-> 16h < “lunit/hr

N

Xy R%\&Bonehourworkﬂ 1) = 3 units

1

16
A & B complete in -y =5§ hours

(©

LCM—» 12 litres~> Total apk 72
_ &‘i {Total Capacity)
: K uf +3 U/\ i/h
s A B
. Pipe (Pipe + leakers)
A 24 hours {+) 36 hours
‘question (FEIIAR) According to Question (TTARER)
our tap A is opened Efficiency of leakage ( @ISl FT1 1 4m)
d hour (TFd =2 7@ A =3-2=1L/h
; B %t G ™) . 72
) S ] Half capacity (0l &wr) = —
s Work done by both in 2 hours 2
; i . = 36 liters
( 2% ¥ fem T ) > Time taken by leakage to empty the
+ 2i/h _ Half filled tank (3 W ¥% % 9% g
2 hour Slitre
\ T H = 36 litre = 36 hours
TE " | litre/h
x2 63.(c) 15
. tal G ;
4 hour 10 litre (Total Capacity)
— Remaining part (3% ¥F1) Efficiency — 15
=12 - 10 = 2 litre
—, Again Sth hour A will be opened Hours— 3 15 1
4

M (i (HI}
I# pipe fills till 3pm = 5%2 = 10 units
II™ pipe fills till 3pm = 4x1= 4 units
Total filled = 10+4 = 14 units
Net Pipe (III) efficiency = 15-9=6
units/hrs

14

Tankwi]lbeemptyh=€=2hr20mjn.

3hr + 2hr 20min = 5:20 pm




A Opened 2 hours early to B.

66. (a) 120 (A, B 2 % w8 @en ™)
In2hours Acando 3 x2=6
+10 15 - unit work
(A R ° AR T )
Remaing werk = 24 - 6 = 18
12h 8h 15h (¥ T
In one Hour it will fill 18
(T we F 9% wm) P+Bcandoitin—>?
=10+ 15-8=17 3
~In5hr=17 x 5= 85 - .
=3—-h =3h 36
. Portion will filled in S hr 5 min
(¥F 9Am + 3h 36 firie § o sEm)
.8 _17 - 12: 36 PM
120 24 100 —sTotal unit water
67. (d) 68. () (g T T )
_ 5 4 — efficiency
A-8 ZS A opened at 7 Am Py
B-12 2 B opened at 9 Am o2bmin. 3Smin.

A

after 'S' min the water fill by A +
(5 fz "= (A + B) g0 s@ T
qrt)

B > 5x93(A+ B) =45 unit
water

Then remaining water unit
(3@ U T TE)

=100 -45 =55

remaining unit water fill by A
SN

!a‘mqﬁtsméﬁ)
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